Torts Outline Draft

I. Intentional Torts

A. Introduction

In any tort action, the burden is on P to make out a prima facie case against D.  If P fails to make out a PF case, summary judgement for D can be made, and the suit will not go to the jury.  If P does make out a PF case, D can then:

1) Directly rebut P’s assertions, or

2) Accept P’s assertions and offer one or more affirmative defenses

If a jury finds that an affirmative defense is valid, then judgment goes to D.

Types of intentional torts and their elements:

1) Battery. (1) D intentionally or purposely acts to cause and succeeds in causing a harmful or offensive touching of P or of some third party; or (2) D intended to create imminent apprehension of such a touching by means of conduct that in fact results in such a touching, or (3) D acts knowing to a substantial certainty that harmful or offensive contact will result.

2) Assault. Where D acts with the intent to cause apprehension of imminent harm or offensive touching on the part of another.

3) Intentional trespass to real property.  Interference or causing interference with another’s right to exclusive possession of real property.

4) Intentional infliction of emotion distress.

5) False Imprisonment.  D has to intentionally set the boundaries of the prison; deprive P of going outside that boundary; and P has to be aware that he is entrapped.

B. Physical Harms

1. Battery and consent

Action = Intention, unlawful action = unlawful intention.

Intent is an element of the PF case of intentional tort.  Vosburg held that the intent to cause the harm is not required as part of sufficient intent, just had to intend to do the act that was done that led to the harm. 

Eggshell P: the condition of P prior to the harm is irrelevant to damages.  So even if D’s actions have an unusual effect on P, D must pay for P’s injury.

a)
Battery: If you touch/contact someone and it is unpermitted, you have committed a battery and you are responsible for all damages that follow.  Unpermitted is not defined, it is discussed in terms of mores. 

Assault and Battery: are always linked, both don’t have to be proven to convict of battery, just the unpermitted touching. (Vosburg v. Putney D kicked P, horrible trauma ensued)

In Garratt, an intentional tort is found although there is no touching.  His actions are considered a touching because they set it in motion and it was sure to happen.  (5 Year old boy accused of battery against an arthritic woman/ Cleveland Park Club v. Perry D, a 9 year old boy, was using the pool, dove down to a depth of 7 ft. and removed the drain cover and inserted a rubber ball.)

Transferred Intent: This begins with a completed tort between A – B.  C is the one that is assaulted.  The intent to contact B is transferred to C. (Talmage v. Smith P hit D in the eye with a stick thrown at two of P’s companions trespassing on the property.)

Trespass to real property: don’t have to know its someone else’s property to trespass.  Inappropriately invading the space of a person or property is the only thing that must be caused.  Less than harm included – simple invasion. (Smith v. Smith D adjudged a trespasser when the eaves of his barn overhung P’s land/Neiswonger v. Goodyear Tire and Rubber Co. Airplane overflights within 500 feet of the ground.) 

b)
Affirmative defenses to intentional torts

Consent: There are three types of consent:

a) Signing of a waiver of rights (express)

b) Emergency implied consent (e.g. for giving assistance at the scene of an accident)

c) Consent given by an incompetent via a guardian

Consent implied in law: D tries to use as an affirmative defense. (Beck v. Lovell, held that permission to perform a tubal ligation after the delivery of P’s third child could not be inferred from her husband’s signature on the consent form/ Kennedy v. Parrott, D was hired to perform P’s appendectomy and he punctured the cysts without negligence/ O’Brien v. Cunard Steamship Co., P was an immigrant to the U.S. who required vaccination against smallpox as a condition of entry into this country.)

Unauthorized = Unlawful.  Battery is an invasion without permission.  This was not an emergency.  If it had been outcome may have been different. He was trying to help her, D argues good intent = good act. (Mohr v. Williams, D consented to surgery on one ear, once on operating table, D operated on other ear.)

Vitiated Consent: Assume consent not able to be given due to coercion or immaturity (statutory rape).  Has a small margin of deterring effect.  Law is made for people’s protection, in this case, the law is paternalistic.  (Prize Fight Consent Case (Class notes) 2 consent to a prize fight, both are 18, prize fighting is illegal.)

2. Nonconsensual defenses

a) Insanity (excuse): The standard for an insanity defense is much higher in Tort Law than in criminal law.  D is liable so long as she is able to form the requisite intent to cause the tort.  Other factors of D’s condition are not considered. (McGuire v. Almy, D told P would attack, and did/ Pomatier v. Russ, D was diagnosed as suffering from paranoid schizophrenia after violently murdering his father-in-law.

b) Self-defense (privilege): There are three elements of self-defense:
1) D must be in danger of serious harm,

2) There must be no reasonable alternative to her actions in order for her to avoid harm,

3) The force used by D must be proportional to the danger.

D was denied the defense because the court said, P would have to be physically assaulting for him to have the privilege of self-defense.  Jury instructions should be amended to find that he was being assaulted in a way that required self-defense, and he believed it as well. (Courvoisier v. Raymond D shot a cop thinking him to part of a gang of robbers.)

c) Defense of property: People have a right to defend their real property in proportion to the harm threatened to them.  You can’t use more harm than is necessary to remove from grounds. (Bird v. Holbrook, D set spring gun to protect tulips, P was maimed while chasing a foul)

d) Recapture of Chattels: Can’t get anything back with force that was taken with a claim of right.  Defense of possessions.  You have a right to use reasonable force to get the possession back but must follow the rule of proportionality. (Kirby v. Foster, P withheld the payroll, D grabbed him to retrieve it)

e) Necessity: D has no choice but to commit the intentional tort.
Private Necessity: There is a special right to preserve human life.  The boat owners had a right to be moored to the dock to preserve life, so they are not trespassers.  D did not have a right to protect his property over P’s life. (Ploof v. Putnam, D unmoored P’s boat in a life threatening storm/ Miller v. Fandrye, P argued that D had no right to pursue the sheep into the next ground.

Qualified Privilege: If you exercise a privilege and cause harm, you have to pay for any damages that result. (Vincent v. Lake Erie Transportation Co., having preserved the ship at the expense of the dock, her owners are responsible to the dock owners to the extent of the injury inflicted.)

With the privilege of necessity, two rights come into conflict:

1) The right to defend

2) The right to use

Who should pay for the damage if 2 innocent people are hurt?  Tend to give special weight to self-defense.

Public necessity: provides public officials the right to take some property in order to save more people.  Doesn’t matter if they are right or wrong, they always have the right to do what is reasonably necessary to carry out the acts of public duty.  Most public officials are immune, but can be held liable. (Respublica v. Sparhawk, Lord Mayor of London, in 1666, when that city was on fire, would not give directions for, or consent to, the pulling down 40 wooden houses/ Scheuer v. Rhodes, Arising out of shootings of students during protest at Kent State.)

C. Emotional and dignitary harms

1. Assault: Intent to harm, the victim’s apprehension of harm.  If there is an assault, we’ll call it harm, even if no actual harm occurred.  Just need intention to act and the act to complete the tort.
a) Intent to do the action that is perceived could result in a battery (unpermitted touching)

b) If you don’t intend battery – could still have assault

c) Person at the other end of the assault must apprehend that the battery is approaching.  (I.de S. and Wife v. W. de S., D saw P and struck with hatchet, but did not touch woman/ Allen v. Hannaford, pointed gun at P and threatened to shoot her, the gun was not loaded.)

d) Don’t need physical harm – fiction.  Might relate to as harm – apprehension.

If there is no intention to commit assault, there is no act, so no assault. (Tuberville v. Savage, “If it were not assize-time, I would not take such language from you”/ Brooker v. Silverthorne, night operator of a telephone exchange, mental anguish and nervous shock after D abused her.)

2. Offensive battery: based on egregious indignity or insult.  (Alcorn v. Mitchell, D spit on P after he lost trial/ Richmond v. Fiske, milkman entered the bedroom of the P, presented him with the milk bill.)
3. False imprisonment: An old tort that requires boundaries or complete confinement.  There are three elements to the prima facie case:
1) D has to intentionally set the boundaries of the prison; (Bird v. Jones, D closed off road for boat race and stopped P from going forward/ Sindle v. New York City Transit Authority, Kids were acting up, so D abandoned his normal route and headed straight for police department/ Peterson v. Sorlien, P parents put her into deprogramming.)

2) Depriving P of going outside of the boundary, (Whittaker v. Sandford, A woman was given complete freedom of movement on D’s yacht, but when she went on shore she was not given liberty to roam or remain there/ Griffin v. Clark, D stashed P’s suitcase in their trunk in order to get her to join them on a trip/ Coblyn v. Kennedy’s, Inc., security detained an elderly man who was so upset that he had a heart attack.)

3) P has to be aware that he is entrapped. (Herring v. Boyle, D refused to give P to mother unless she paid an amount he claimed was due.)

4. Intentional infliction of emotional distress:  Extreme and Outrageous Conduct

An emotional harm that caused a physical harm.  There is a problem of connectedness of the physical harm to the tort.  If you recognize this tort of words only, how does this impact slander. (Wilkinson v. Downton, P went into shock after being told her husband was in a terrible accident as a joke/ Boulion v. Laclede Gaslight Co meter reader burst into home of pregnant woman, the next day she miscarries/ George v. Jordan Marsh Co., P suffers heart attack after repeated calls from bill collector/ Rockhill v. Pollard, family taken to doc after accident, he refuses to treat/ Hustler Magazine v. Falwell, D made a parody of P)

The Restatement 2d admits emotional harm, not just physical.

II. Strict Liability and Negligence:  Historic and Analytic Foundations

A.
Early Cases

1. Originally, there were only two forms of action: Trespass and Case.  Both trespass and case were strict liability torts: i.e., if D committed the tort, then she was liable, no matter what the circumstances were.  D could either demur (i.e. admit the facts as stated by P, while insisting that the facts do not show that D is liable) or contest the facts as P stated them, but she could not do both.  D was allowed only one defense against any given claim.

a) Trespass: Direct invasion of person or property.  The parent of the tort of intentional assault/battery, vi et armis.

b) Case: Sometimes called Trespass on the Case. The parent of the negligence tort action.  Torts with fault, negligent fault.  Indirect invasion of person or property.

The Thorns case establishes two main lines of argument. (The Thorns Case, D trampled crops on P’s close while retrieving branches)

D: If exercised all possible care and this happened anyway, this is an inevitable necessity.  This “best efforts” gateway allows an escape from strict liability. (Millen v. Fandrye, D’s dog chased P’s sheep off D’s land)

P: if a man does damage he is responsible for it. Strict liability – not discussing the intent to make an impermissible touching, but a man who suffers has a right to be compensated. (Tithe Case, corn tithed for P was destroyed when placed in P’s barn)

B.
Inevitable Accident: The question is not whether the actors had behaved unreasonably – whether they should have avoided the accident – but whether they could have avoided it by greater practical care.  The only way out of strict liability.

Weaver is reciprocal to Choke, distinguishing D’s act from a felony.  Yet in trespass this is not so.  If D hurts a man, he shall be answerable in trespass.  No man should be let off the hook for damage to other.  No man is excused of a trespass unless utterly without his fault.  Question, was this an inevitable accident, does D have a best efforts defense?  Court says no, D did it so he has to pay.  Looks like strict liability. (Weaver v. Ward, D shot P, both were soldiers/ Gibbons v. Pepper, D was riding a horse on the highway.  Horse was frightened and ran until it injured P.)

C.
The Forms of Action


1.
Trespass and Case

Trespass:  By the final stages of the writ system, it was generally settled that trespass lay for the redress of harm caused by D’s direct and immediate application of force against the person or property of P.

Case:  Covered all those “indirect” harms, not involving the use of force that were actionable at common law.

Debate in the Squib Case is really about if trespass is maintainable in cases where the harm is indirect.  The majority opinion is that it is maintainable because D is the author of the harm, the doer of all that follows.  Thinking of more broadly and allowing the consequences to be considered as directly flowing from the act. (Scott v. Shepherd, Squib toss in market place)

2.
The Breakdown of the Forms

The evolution of trespass.  Direct cases became accepted that P would claim, you ran into me, D would be able to get off by showing that he did everything with care.  D could use the affirmative defense that there was no negligence.  However, if the case was indirect, P had to plead negligence.

The forms of action were abolished in England and the U.S.  in the 19th Century.

a) any number of theories could be offered as a basis of recovery. 

b) Any number of defenses could be offered by D.  

c) Negligence supplanted strict liability as a basis for recovery.

D. Strict liability and negligence:  last half of the 19th Century

1. Brown v. Kendall, Rylands

The beginning of non-intentional torts in the U.S.  If P has an action for an unintentional tort he has to plead and prove fault.

In order to make PF case in negligence, P has the burden of proof to show there was a lack of care.  D can assert an affirmative defense of contributory negligence.

Ordinary Care: the kind and degree of care, which prudent and cautious men would use, such as is required by the exigency of the case, and such as is necessary to guard against probable danger.

Inevitable Accident: an accident such as D could not have avoided by the use of the kind and degree of care necessary to the exigency, and in the circumstances in which he was placed. (Brown v. Kendall, 2 owners watching dogs fight, one hits other in eye with stick)

Fletcher v. Rylands exemplifies the fight between strict liability and negligence in the 19th century. (P damaged by a flood caused by a reservoir created on D’s land)
Bramwell: Thinks D should be liable for the harm he causes.  P had a right to be free of water.  D had no right to flood P’s land.  This is a typical invasion of someone’s interest.  Compares this case to unintentional tort where a finding of fault is necessary.  Distinguishes from highway cases because there is no assumption of the risk or mutual causation and risk.  (Negligence laws were used for highway accidents, although there is a rule of strict liability at this time)

Blackburn’s True Rule: That one who brings something potentially dangerous onto his own land is strictly liable for the harm caused if it escapes onto another’s land.  D has to be the guarantor.  Allows for an act of god, or P’s fault.  Otherwise, D has to pay for the risk he’s putting onto others.  This is different from the reciprocal risk of the highway.  Its on D’s property.  Looking at the user, here a non-natural use, D gets the benefit, the neighbor doesn’t.  The risk flows one way.  Non-reciprocal risk of great harm.

Non-natural use: Relates to land and to what people are accustomed to.  A reservoir is man made, doesn’t count.  An act of god would be a good excuse.  Coal mining is a natural use.  A mill is a non-natural use, upstart business.  Looked at according to the custom and use at that time.  Used in the furture in the laws of ultrahazardous activity where a high risk of danger is present.  (Cited by Lord Cairns in Rylands v. Fletcher)

2. Brown v. Collins, Holmes

Brown attacks the Blackburn’s True Rule, seeing strict liability as a slippery slope argument.  Clogging horses is a reasonable, natural, good activity.  Any act might incur liability.  If we allow strict liability, people might stop acting. (Brown v. Collins, D’s frightened horses broke post on P’s land)

Brown also attacks Cairns natural v. non-natural use idea.  This concept gives preference to savage life in the wilderness.  How do you distinguish between the two?  If the act is not something established then D has to pay the cost.  This concept impedes progress.  If you are living a savage life in the wilderness you don’t have to pay, if you are doing something new/innovative, you are liable.  This court rejects Cairns, the common law is a natural law that gives natural rights.  The laws of civilization are as natural as all others.

Brown distinguishes the old cases.  This is a different world with different rules.  The old rules are not fitting to growth of intelligence trade and free enterprise.  Contrary to the American Pioneer Spirit.

Brown shows a reluctance to impose any state regulation.  Though not really similar to highway cases, because not reciprocal risk/reward.

Restatement (Second) of Torts §166

Takes the position that accidental entries into land are not actionable except in conjunction with “abnormally dangerous activities.”

As part of civilized society people give up rights, but you get rights by being part of the social state.  There is reciprocity because everyone shares in the benefits.  Really only looking at good side of industrialization.  The court system is trying to encourage industrialization.  Will there be less industrialization if the cost is put on the company?  All direct benefits go to the producer. (Losee v. Buchanan, D’s boiler exploded and was thrown onto P’s premises)

Holmes thoughts on the role of the state

The state could be an insurer, but it shouldn’t be.  The state should only intervene when a clear benefit can be derived.  If there is no fault, the responsibility falls on the victim.  You should have less law, minimal law, the courts and states should stay out.  

Holmes is accepting the risk of society, except in cases with negligence fault.  No man shall be held liable without fault.  His position is based on legal realism, it doesn’t do any good to hold someone strictly liable because it doesn’t direct their behavior.  Negligence laws encourage more responsible behavior.

Holmes wants to use the law to cause people not to do things they should not do.  A moral basis for the law.  Holding people responsible for things they are not choosing to do is futile.  You have to be able to choose.  If you are not able to choose the law has no relationship to the person as a choosing person.  If an inevitable accident happens (Loosee’s boiler, lightning strike) it is wrong to put the responsibility on somebody for things they couldn’t foresee and choose not to do.

Holmes fears the rule of strict liability will put a chill on personal behavior.  People wills stop taking actions for fear of liability.

E. Modern times

1. Stone v. Bolton – Strict Liability

Jenkins is looking at reasonably foreseeable risk.  He is saying it happened before, it could happen again, may be applying strict liability.  The court never looks at probability of the accident.  Only looking at the possibility/foreseeability of the accident. (Stone v. Bolton, P struck on head by cricket ball from nearby ground)

The majority says, foreseeability is not enough, need to consider the degree of risk and the seriousness of the consequences, then have to look at the cost of prevention.  

Lord Reid finds that the risk is so small, reasonable people wouldn’t take precautions.(Bolton v. Stone)
Efficiency arguments.  Some people argue administrative cost savings of strict liability.  Calabresi says people should avoid accidents where the cost of prevention cost less than harm.  Puts burden on the party causing the harm.  They are better able to absorb the cost, able to prevent the harm by taking steps, able to make an economic choice to pay the cost or take preventative measures.

Assume negligence is the rule of law with exceptions.  Negligence rule for liability for unintentional torts.  At low levels of harm, some states have no fault liability.  Can use negligence even when accompanied by strict liability.  Better off proving negligence, D did something wrong.

Strict liability used by statute in: 

1) no fault auto actions, 

2) abnormally dangerous activities (extension of Rylands),

3) products liability – defect causes the accident

III. The Negligence Issue

A-B
Introduction and the reasonable person

The tort of negligence contains 4 distinct elements:

1) Duty: did D owe P a duty to conform his conduct to a standard necessary to avoid an unreasonable risk of harm to others?

2) Breach: did D’s conduct, whether by act or omission, fall below the applicable standard of care set by law?

3) Causation: was D’s failure to meet the applicable standard of care causally connected to P’s harm?  Often this is divided into 2 parts: cause in fact and proximate causation.

4) Damages: did P suffer harm?

P says – you hurt me by negligence, D says - my conduct was reasonable/was not unreasonable.  Sometimes this is a question of fact for the jury.  And sometimes the facts are so clear, that reasonable people wouldn’t do (Mayhew) that it leads to summary judgment.  Sometimes facts so clear for D, e.g., not unreasonable for company not to act that D will get summary judgment (Blythe).

When the facts are not so clear, you can narrow the presumption by getting strong inferences from:

· Practice

· Custom

· Tradition

Statutes provide conclusive presumption.  Negligence per se narrows the presumption further, really closes it because it sets the standard.

What are the benefits of having conclusive presumption?

· Codifying what reasonable people do

· Raising the standard

· Clarifies what people must do and not do

1.
How do you judge what is reasonable? By asking what would a reasonable person do?

Provides an objective standard that is easier to administer.  Jurors have a composite view.  Holmes says we need a standard, either live up to the standard or avoid risky behavior. (Vaughan v. Menlove, D place a rick close to edge of P’s property, a fire started after P had been warned and chose not to move hay/ Tuberville v. Stamp, D’s unguarded fire burned P’s field)

2.
The reasonable person standard and skill level (minors/professional standard)
What standard should be used for children?  Children should be held to the standard of a child their age of maturity.  Not a subjective standard. (Roberts v. Ring, P, a boy, was injured by D’s car when he ran into the street)

What about an old person? Should be held to the standard of the prudent person. (Johnson v. St. Paul City Ry. Co., some allowance should be made for P’s age and condition.)

Restatement (Second) of Torts §299A

When D has greater skills than most people in that line of endeavor, D is required to exercise the skill and knowledge normally possessed by members of that profession or trade in good standing in similar communities, unless he represents that he has greater or less skill than the average.

What standard of care should be applied to minors engaging in adult activities?  The court finds that the adult standard should be applied. (Daniels v. Evans, P, 19, was killed when his motorcycle hit D’s car/ Dellwo v. Pearson, A 12-year-old D was held to the adult standard of care in the operation of a speedboat) Based on:

1) Legislative intent: If meant to differentiate would have done so.  Where people are licensed to perform ultrahazardous activities, all are expected to use the same reasonable standard of care.

2) No way to warn other drivers of approaching minor.

Some courts allow a double standard where P is a minor.  But most courts have a single standard for hazardous activities.

Goss result is usual.  Most state courts use child standard when the activity is commonly done by young people. (Held that a 17 year old skier by held to a standard appropriate to youths of the same age/ Purtle v. Shelton, 17-year-old boy was not subject to the adult standard of care in the use of dangerous firearms.)

Beginners are usually held to a reasonable person standard.  People at large have a right of protection against harm from careless people.

Reasonable person exceptions: dumb, old, young, insane, blind, drunk, rich.  The standard for blindness is what a person in this position would do.

3. Insanity and the reasonable person.

Insanity is not a defense if forewarning should have prevented the reasonable person from doing the action that caused the harm.  (Breunig v. American Family Insurance Co., D lost her mind while driving, hit P)

4.
The reasonable person standard and the duty to others.  Have to take care for all types of people.  Must be as mindful of the disabled as the able.  (Fletcher v. City of Aberdeen, Blind person fell into hole dug by city/ Weinstein v. Wheeler, Public thoroughfares are for the beggar on his crutches as well as the millionaire in his limousine.)

C. Calculus of risk – A method for figuring out the duty of care

In Blyth, the court asked when a reasonable man would act under average circumstances.  The court found that this severe frost is not something reasonable people in D’s position would think to prevent.  The risk was non-existent and could not be foreseen. (Blyth v. Birmingham Water Works, water plugs in street burst after severe frost)

In Eckert, have to ask the question: Was P negligent to himself? Did P fall below the standard of care of a reasonable person and in so doing put himself at risk? (Eckert v. Long Island R.R., P was killed while trying to save a child from the train tracks)

Have to measure the magnitude of the risk to P (degree of risk) against the probability of the harm.  Comparing the cost to P if he goes to the rescue vs. the cost if he doesn’t.

· degree of the risk , what is he risking (º)

· principle object (his life), value of life (L)

· collateral object (child)

Emergencies create different circumstances, somewhat relaxes the reasonable person standard.  The cost is also to society, not just the individual, in the duty to rescue question.

There is some degree of risk in doing nothing/taking action vs. taking preventative reasonable action and hurting more people.  Don’t really take into account activity level, the more you do the activity the more likely damages will result. (Cooley v. Public Service Co., P suffered rare neurosis due to loud noise from phone)

1. Carroll Towing

Background.  Learned Hand’s B<PL formula, introduced in the Carrol Towing decision in 1947, has been seized on by the courts as giving a guide to the proper level of care that D must take without being negligent.  It has been taken as a general guide in a society where community standards are hard to determine and where standards of prudence vary widely from profession to profession. United States v. Carroll Towing Co., D moving barges, one breaks away, hits tanker, goes down)

If B<PL, the cost of preventing the accident is less than the probability of the accident times the gravity of the loss, D has a duty of care.  If B>PL, then a reasonable person would have done nothing to prevent, has no duty of care (Rinaldo v. McGovern, Golfer hits ball into P’s car).  Hand really took this idea from Posner who said that if B is too high, society should not invest in safety.

P:
Probability of loss if there is no bargee on board during busy hours.

L:
The gravity of injury that will occur if the risk happens.

B:
The burden of precautions that would have prevented injury (cost of prevention).

D. Custom

Pre-T.J. Hooper Custom Cases

The main idea in these cases is that industry is better equipped than the courts to set the standards.  The market should set the standard, leave people alone with the deals they struck.

Mayhew v. Titus: In Mayhew, D introduced a new element that created an unsafe condition.  P had a right to expect that there was no hole behind him.  The lack of precautions taken by D were so gross that you know it when you see it.  The court felt that no jury could find that this was reasonable care.  In Titus, it was not out of the question to see the practice as due care and within the standard of care.  P was aware of the conditions of safety.  P had no expectation for the conditions to be different than they were. Titus v. Bradford, B. & K. R. Co., P died when a rail car placed on a wide bottom dislodged/Mayhew v. Sullivan Mining Co., P injured when D cut hole in platform without notice)

T.J. Hooper

These two decisions are indicative of both the sword and the shield uses of custom.  The lower court thought that radio’s were standard (sword), but based on thin evidence.  The higher court finds no standard (shield), no custom.  Judge Hand says, there was no custom not to have them either.  A whole industry may be lax and fall behind so custom should be taken with skepticism when D tries to hide behind it as a shield. (tugs not equipped with radios, lost in major storm)

The significance of custom in negligence.

Custom does not set the standard of care, it is not conclusive.  But it does seriously influence the setting of the standard.  It can be weighty evidence.  But it Titus, a whole industry was lagging behind – weaker inference. (Lucy Webb Hayes National Training School v. Perotti, Allowed P to introduce D’s own internal rules on the standard of care question/ Trimarco v. Klein, P injured by glass shower door.)

1. Jadranska Slobodna Plovidba – Custom and Economics

Posner using custom as a relational inference.  Here, because the shipowner pays the stevedore, the stevedore has to pay the cost of the accident.  Because of this custom, it makes sense for the shipowner to take precautions, or else would have to pay the stevedore too much.  If the shipowner is liable, the cost of the business goes up and is passed on in reduced salaries of other longshoremen.  If they worked together, they could share the cost of the gains.  If the cost of safety is low, provides more bargaining power for the union. (U.S. Fid. & Guar. V. Jadranska Slobodna Plovidba, P fell through an open hatch while attempting to steal liquor from hold)

Although custom is not a defense to a charge of negligence (T.J. Hooper), it is a material consideration in evaluating the charge, especially where the victim and the alleged tortfeasor are linked in a voluntary relationship.

2.
Medical malpractice

a. Standard of care

What happens when the doctor follows the standard of care and patient still is harmed?

Even if following the standard of care, may still be negligent.  If the standard of care is negligent, then custom doesn’t set the standard.  The court held in Helling that custom may be lacking.  P argued that the end of medicine is to help people, that trust/confidence in the relationship is critical. (Helling v. Carey, P went blind because doctor failed to conduct glaucoma test in time)

Its hard to find medical practitioners liable when they are conforming to the standard of care.  Reasonableness will coincide with standard/custom/cost.

b. Informed Consent

Canterbury set new law, nationally, in proscribing the rules for informed consent.  Various courts have found that the standard of care on the duty to disclose is custom, at the doctor’s discretion.  This led to a lack of personal choice about what happens to your body.  (Canterbury v. Spence, P suffered paralysis after surgery for a ruptured disk, he was not told that paralysis was one of the risk)

This new approach is patient centered.  The judge uses his discretion to negate the prior custom.  Needed an objective standard.  P brought in experts to testify about what he would have done if he were aware of the risk.  The court looks at what a prudent person would do in this position.

Even though the law if pro-P, it is still hard to prove that D is guilty of non-disclosure.

Duty to disclose - It is a duty to warn of the dangers lurking in the proposed treatment, and that is surely a facet of due care. 

Scope of disclosure – The patient’s right of self-decision shapes the boundaries of the duty to reveal. The scope is measured by the patient’s need, and that need is the information material to the decision. 

Exceptions to disclosure rule – When a patient is unconscious or otherwise incapable of consenting and harm from a failure to treat is imminent and outweighs any harm threatened by the proposed procedure.  

Repudiation of duty of full disclosure: (Sidaway v. Bethlem Royal Hospital, P not informed of 1% risk of spinal chord damage/ Kozup v. Georgetown University, Parents of deceased brought informed consent claim against the hospital after a transfusion which was given at birth with AIDS contaminated blood.  Found that P must show that disclosure of significant risks incidental to treatment would have resulted in a decision against it.)

E. Statutes that set safety standards

1. Criminal statutes; negligence per se

Background.  Statutes pose a special issue that is similar to the custom issue.  If a company follows a statute or government regulation, can it be held liable for injury that results?  Courts have generally ruled that 

1) Following a statute is not evidence that a duty of care wasn’t violated, but that

2) Violating a statute creates the presumption that a duty of care was violated.

In these cases, see negligence as a common law right, breach of legal duty set by the statutes.  The court uses the statutory standard, importing the standard set by the legislature.

Violation of a statute: There are three ways in which a court can take a violation of a statute into consideration in reaching a judgment:

1) Violating a statute can be negligence per se: that is, the question of whether D was negligent or not won’t even go to the jury; falling below the statutory standard is negligence, not reasonable. (Osborne v. McMasters, D sold poison without label as required by statute)

2) Violating a statute can of itself constitute a PF case of negligence (but the jury can still find no negligence based on D’s affirmative defenses;

3) Violating a statute can only be seen as part of the evidence of negligence, but not sufficient to make out a PF case. (Martin v. Herzog, P driving buggy without lights, collision occurred)

In some courts, the purpose of the statute is relevant: so, if you violate the letter of the statute, but your conduct isn’t the sort of conduct the legislature wanted to prohibit, then the violation of the statute won’t be evidence of negligence. (Gorris v. Scott, D failed to pen in sheep in accordance with the “Contagious Disease (animals) Act of 1869.  As a result they were washed overboard in a storm.)

Duty still exists when the statute is defective.  (Clinkscales v. Carver, nonetheless was negligence as a matter of law to disregard the stop sign.)

Standards can be deduced from subsequently enacted statutes. (Hammond v. International Harvester Co., allowed P to introduce into evidence OSHA regulations, which were effective only after the manufacture of the vehicle.)

Statutes can be interpreted to cover a broad protected class depending on their scope. (Teal v. Du Pont de Nemours & Co., D had argued that the applicable section of the statute was restricted to employer’s own employees.)

When statutes have limited objectives, the statutory duty has been narrower. (Fitzwater v. Sunset Empire, Inc., effort by the city to require the abutting property owner to aid the city in the performance of its duty, not to create a liability in favor of third persons.)

Are private rights of action available under federal statutes?  Not really.  (Cort v. Ash, no private action for damages in favor of a corporate shareholder against the corporate directors for violation of a federal statute.)

Violations of a statute may be excused by necessity or emergency. (Restatement of Torts 2d, Section 288A, comment i, illustration, 6/Tedla.)

2. Licensing statutes; negligence per se and proximate cause

Brown held that, although the statute may be used as presumptive evidence, P still has to show that there was harm.  Can’t infer that lack of a license makes D negligent. (Brown v. Shyne, D gave treatments without license to practice medicine, P became paralyzed)

Dissent implies that negligence per se and strict liability are merged.  D falls below a standard of care and conduct by not having a license.  Saying, D doesn’t have to be negligent.  The negligence doesn’t have to be the operating cause of the harm.

The court is making inferences from fact.  The law is putting its thumb on the scale for P because of D’s behavior.  Giving the benefit to P is really a fiction, because D may not be negligent.

What is the purpose of the statute?

· A higher level of knowledge and skill from training for the license

· Ensure that an unreasonable risk is not created.

How has this evolved?

Statutes have been created to overrule the common law.  They say that lack of a license is prima facie evidence of negligence, it is presumptive.  P still has to put on a case.  The law puts its thumb on the scale, the inference of negligence may be contrary to fact.  But this is still sufficient evidence, if unrebutted by D to prove negligence.  Can also be enough evidence to go to the jury.

Negligence per se vs. Proximate Cause per se

Negligence per se: In Ross, D violated a safety statute that was intended to protect against just this sort of outcome.  The purpose of the statute was to raise the standard of care.  D might otherwise not be negligent.  But if the statute raised the standard and was intended to protect against this harm, then D is negligent. (Ross v. Hartman, D left truck unattended with keys, violating an ordinance, the car was stolen and then in an accident)

Proximate Cause per se: There was an intervenor here, what role does he play in breaking the chain of causation?

F. Proof of negligence by circumstantial evidence:  res ipsa loquitur (the thing speaks for itself)

The Restatement 2d of Torts.  Section 328D.  Res ipsa loquitur

1)
It may be inferred that harm suffered by P is caused by negligence of D when

a)
the event is of a kind which ordinarily does not occur in the absence of negligence;

b)
other responsible causes, including the conduct of P and third persons, are sufficiently eliminated by the evidence; and

c)
the indicated negligence is within the scope of D’s duty to P.

2)
It is the function of the court to determine whether the inference may be reasonably drawn by the jury, or whether it must be necessarily drawn.

3)
It is the function of the jury to determine whether the inference is to be drawn in any case where different conclusions may be reasonably reached.

Res ipsa is both a negligence question and a causation question.  It allows an inference of negligence when there is no direct evidence that

1) D caused the injury or

2) That D was actually negligent.

Res ipsa is used when there is simply no other explanation of the harm done to P other than that the harm was caused by D’s negligence.  Forcing D to come forward to explain if there are other explanations.  D has the primary control, if they want to assign the blame somewhere else, it is their burden.  Puts the burden of proof on who has the burden to prove it. (Byrne v. Boadle, P struck by a barrel of flour from D’s flour factory/ Colmenares Vivas v. Sun Alliance Insurance Co., P injured by D’s escalator)

Res ipsa is taken as making out a prima facie case of both negligence and causation.  The jury can therefore still rule that there is no liability based on D’s affirmative defenses.

As soon as it becomes clear that D has a duty to P, then negligence is chargeable to D.

· P has to prove: This would not happen without negligence.

· D has to prove: Not the cause of the negligence, or lose.

Res ipsa loquitur harder to apply when D’s liability is predicated on grounds other than negligence.

Harder to apply res ipsa loquitur to possible acts of god.

Sometimes res ipsa loquitur can be used for summary judgment/directed verdict

Common understanding and res ipsa loquitur

In general, courts have held that P can go to the jury without expert testimony in medical malpractice cases when there is “common knowledge” that the harm would not have occurred without D’s negligence.  Harder to apply when medical judgments and procedures are concerned.

In Ybarra, able to point to a group of D, no problem using res ipsa because it would be unfair to P who is injured by someone in this close, tight knit group.  P is entitled to an explanation.  By putting the presumption of negligence against all of them, the law is forcing a D to come forward to extricate himself. (Ybarra v. Spangard P went into surgery with no problems, came out with ruined shoulder)

Conditional res ipsa loquitur: Anderson v. Somberg Applied res ipsa loquitur to this case of multiple defendants, noting that this development represents a substantial deviation from earlier conceptions of res ipsa loquitur and has more accurately been called “akin to res ipsa loquitur,” or conditional.

IV. Plaintiff’s conduct – D’s affirmative defenses

A-B
Contributory negligence

1. Contributory Negligence

Restatement Torts 2d 1965, Section 463

Contributory negligence is conduct on the part of P which falls below the standard to which he should conform for his own protection, and which is a legally contributing cause co-operating with the negligence of D in bringing about P’s harm. 

Restatement Torts 2d, 425-426

1) P is required to exercise only that amount of care which would be exercised by a person of ordinary prudence in the same circumstances.  

2) The burden of proving that P was negligent and that such negligence was a proximate cause of the accident is on D.  A party claiming a person failed to exercise due care has the burden of proof on that issue.  The burden of proving all aspects of the affirmative defense of the contributory negligence, including causation, rests on D, unless the elements of the defense may be inferred from P’s evidence.  

3) P’s negligence is a legally contributing cause of his harm if, but only if, it is a substantial factor in bringing about his harm and there is no rule restricting his responsibility for it. 

Contributory negligence first arose in the English case of Butterfield v. Forrester, where the court barred P from recovery after it found that the accident was due to P’s negligence as well as D’s.  In Butterfield and all other contributory negligence cases, P’s negligence has been seen as a total bar to recovery. (P riding fast along road, thrown over D’s obstruction)

There have been two reasons given for allowing contributory negligence as an affirmative defense:

1) it’s in society’s economic interest to give P incentives to take care; and

2) from a corrective justice standpoint, we don’t want P to recover from accidents where she’s at least partially at fault. (Beems v. Chicago, Rock Island & Peoria R.R. Co. employee killed after signaling to stop train while go on tracks)

Courts were often dissatisfied with contributory negligence because it often had harsh results, barring P from recovery in instances where D clearly bore the burden of the fault.  In response to these harsh results, courts created exceptions to the contributory negligence rule:

1) Last Clear Chance Doctrine: if D had the last chance to avert harm, then, despite P’s negligence, D was liable for the harm.

2) When P on own property: if P is on her own property, then she can’t be held negligent when harm is caused by D’s negligent invasion on her property (LeRoy Fibre).

P’s act may be negligent, but the burden is on D to prove that it was causally responsible for the harm.  In Gyerman, P’s failure to report is only a cause if D can show that the dangerous situation would have been cured. (Gyerman v. United States Lines Co. P injured on job when he continued to stack fishmeal though he knew it was dangerous)

Contributory negligence and breach of statutory duty

If the statute is for the safety of this person and the employer is negligent per se, the court says the employer can’t get off by claiming contributory negligence.

Contributory negligence and cases of custodial care

When people are not responsible for themselves, they cannot be held contributorily negligent. (Padula v. State Patients at a detox center mixed copier fluid with tang and were seriously injured.)

2.
Causation, seat belt defense, last clear chance

Does P have a duty to anticipate D’s negligence and to take care with her property or person, failing which D could have an argument of CN? (Le Roy Fibre Co. v. Chicago, Milwaukee & St. Paul Ry. flax stacks near tracks thus due care lacks/ Derheim v. N. Fiorito Co. P has accident w/out seatbelt/ Spier v. Barker Held that nonuse of an available seat belt and expert testimony in regard thereto, is a factor which the jury may consider)

Derheim/Mckenna says there is no such duty. P doesn’t have to take due care anticipating D’s negligence. This viewpoint is dominant.  The courts want to put the burden on D for negligence.  Violation of a statute may not be used as negligence for CN – otherwise, negligence per se.  Cannot import the statutory standard into the common law.

Spier/Holmes say level of care that P could and should take for selves, regardless of D’s negligence is required.  If D was negligent and P didn’t take care for self, have to take responsibility.

Reciprocal causation: Who is causing what?  Could be hurting the RR by making them pay because the flax is too close to the tracks.  Which way do you measure the value of both activities?  How do you minimize the losses if both will suffer?  Is one a better cost avoider?  All the farmer has to do is move the flax back.

Coase Theorem: If farmers always stack their flax in the corridor of danger, what will happen?  Would they bargain for an efficient result?  Both are causal, they should maximize their benefits.  If they reach an efficient result they are better off.  It doesn’t matter what the rule of law is, they will migrate and gravitate to the efficient result.  We would see conduct moving to keep the flax back at a reasonable distance.

The seat belt defense

Contributory negligence: not wearing the seat belt has to contribute to the accident itself. Not wearing a seat belt is negligence before the accident and does not contribute to it.  There is no requirement to buckle up.  If CN were allowed, P would be unable to recover at all, that is a very unfair outcome.  The court also says it is not its job to determine comparative negligence.

Assumption of the risk: P is not saying I don’t have on a seat belt so hit me.  That would be giving D the authority to go ahead with the action in the face of the risk.  It doesn’t fit here.

Last Clear Chance

Restatement (Second) of Torts (1966)

Section 479.  Last Clear Chance:  Helpless Plaintiff

A P who has negligently subjected himself to a risk of harm from D’s subsequent negligence may recover for harm caused thereby if, immediately preceding the harm,

a) P is unable to avoid it by the exercise of reasonable vigilance and care, and

b) D is negligent in failing to utilize with reasonable care and competence his then existing opportunity to avoid the harm, when he

(i) knows P’s situation and realizes or has reason to realize the peril involved in it or

(ii) would discover the situation and realizes or has reason to realize the peril, if he were to exercise the vigilance which is then his duty to P to exercise.

Section 480.  Last Clear Chance:  Inattentive Plaintiff

A P who, by the exercise of reasonable vigilance, could discover the danger created by D’s negligence in time to avoid the harm to him, can recover if, but only if, D

a) knows of P’s situation, and

b) realizes or has reason to realize that P is inattentive and therefore unlikely to discover his peril in time to avoid the harm, and

c) thereafter is negligent in failing to utilize with reasonable care and competence his then existing opportunity to avoid the harm.

When P is faced with a CN affirmative defense he can turn back to D and say, your conduct was willful, you had the last clear chance.  The party that can avoid the accident has the sole responsibility for it. (Fuller v. Illinois Central R.R. Train ran over old man in wagon on RR tracks, even though saw him in time to stop/warn)

P says, D neg…D says, P CN…P says, D had last clear chance, willful, reckless

Scope of the defense

In order for P to successful assert that D had the last clear chance, he has to prove that D knew or was reckless in not knowing.  Assuming a risk means knowledge and appreciation of the risk that is present.

C. Assumption of risk

Assumption of the risk is an objective doctrine.  D proves P’s assumption.  P must have appreciated and voluntarily confronted the risk.  The willing can’t complain and make someone else responsible.  The willing do not suffer legal injury.  It is seldom the case that this is true. (Lamson v. American Axe & Tool Co. P worked making hatchets, was given a new rack that was unsafe, told employer, forced to use them, a hatchet fell on him)

Primary assumption of risk: D was not negligent, he either owed no duty or did not breach the duty owed.  A voluntary confrontation of a known risk with full appreciation of the risk.   This would normally be determined by a judge.  This is not the majority rule.  Most states don’t excuse duty unless there is express forgiveness of the duty by P to D.

In Steeplechase, Cardozo found that P had no action because the injury complained of was the very hazard that was invited and foreseen and one who takes part in such sport accepts the dangers that inhere in it so far as they are obvious and necessary. D was not negligent, there was no duty owed, the risk was inherent in the activity.  There was no duty beforehand or a forgiveness of the duty. (Murphy v. Steeplechase Amusement Co. P injured on Flopper, sues) 

Secondary assumption of risk: As an affirmative defense to an established breach of D’s duty, it is incorrect to say P assumed the risk whether or not he was at fault.  This is normally folded into contributory negligence as a phase.  If what you did wasn’t unreasonable, D has no defense, there is no deduction. 

Eckert, if it were primary P would lose.  RR had a duty not to go so fast, as a result there was negligence.  The duty keeps running, there is no forgiveness in area of D affirmative defense.  P could have been CN by unreasonably assuming a known risk.  Meistrich and most of the cases are secondary, primary is a narrow category. (Mestrich v. Casino Arena Attractions, Inc. P continued skating on unreasonably slippery ice)

The fellow servant rule: held that the employer was not liable to P for harm caused by fellow employee.

Employer liability acts: Introduced a general principle of negligence liability and abolished the fellow servant rule.

Miscellaneous Assumption of the risk

· P must be warned of a risk in order to assume it.

· Those attending spectator sports assume the risk.

· Those that play professional sports assume the risk

· Firemen and other rescue workers assume the risk.

D. Comparative negligence

1. At Common Law

In 1975, in Li, California became the first state to do away with contributory negligence and adopt a regime of comparative negligence.  Under comparative negligence, fault is determined according to the degree of your negligence.  Thus, if you are injured, but you have been responsible for 40% of the negligence that resulted in the accident, you can only recover up to 60% of the cost of your injury.  This system is, however, much better for P than the contributory negligence system, where P who was 40% negligent wouldn’t have recovered at all.

There are two types of comparative negligence systems: “pure” and “impure.” Pure comparative negligence systems, like California’s, allow the injured party to recover something no matter how much of the injury the party is responsible for.  Thus P can recover 20% of the cost of injury even if they are 80% negligent themselves

Impure comparative negligence systems, on the other hand, allow recovery only when P is less than 50% negligent.

Assumption of the risk: If not forgiveness of duty, folded in for the affirmative defense, looking at fault.  Has to unreasonable assumption when folded into comparative negligence.

Last clear chance: Abandoned, no good reason to keep.

2. By Legislation

There has been a massive legislative move towards comparative negligence within the past 15 years.

Federal Employer’s Liability Act (1994)

The fact that the employee may have been guilty of contributory negligence shall not bar a recovery, but the damages shall be diminished by the jury in proportion to the amount of negligence attributable to such employee: Provided that no such employee who may be injured or killed shall be held to have been guilty of contributory negligence in any case where the violation by such common carrier of any statute for the safety of employees contributed to the injury or death of the employee.

V. Multiple Defendants

A. Joint and several liability

What is the responsibility/liability of D’s to P?

If D negligently caused the harm

· D is liable for that certain harm

· P has the burden to prove that D caused that certain harm

· D not liable for certain harm caused by someone else.

How is liability to be divided up among multiple negligent D?  

The common law rule is one of Joint and Several Liability.  Under Joint and Several Liability, P who has proven that more than one D is responsible for her injury can collect her damages from whichever D she chooses, in whichever proportion.  Both D are liable to P for the entire amount, though P is not entitled to more than the total judgment.  Each D is on the line for the whole judgment.  This is seen as a way of protecting P’s ability to recover, and not placing an undue burden on her.

D will likely implead others to pay.  One D can’t use the defense that the other tortfeasor is responsible.  Each wrongdoer accepts the damage of the others.  There cannot be a distinct injury separated from the whole.  D has the burden to show that the damage could have occurred without his input (act of god, incidental).

Contribution: P allowed recovery from each D.  Each D is liable in relation to his causal negligence to the total amount recoverable.  P still has the right to get the whole.  Sometimes the jury will divide among the D, other times P will collect the entire recovery from one among many D [this is common when one D has deep pockets] that D can then, in a separate suit, sue the other D for their portion of the damages.  Most contribution is done by statute or legislation.  (Accident followed by negligent surgery A runs down B causes a $40,000 injury. The doctor negligently operates, B limps for life.  The total injury cost $400,000.)

Indemnity: When P has recovered entirely from one D, and that D was only derivatively liable, then that D can seek to shift the whole burden to the other D in a separate suit.  Vicarious liability covered here where P sues both the employer and employee.

Concurrent causes: If two causes equally bring about the harm (and each would have been sufficient to bring about the harm), courts typically allow joint and several recovery from the two D by P. (Kingston).  One exception: when there are two concurrent causes, one natural and one human, P cannot recover, on the theory that the harm would have occurred whether D was negligent or not.

Concert of Action: when two actors are working together, but only one is negligent, there is joint and several liability among the possible causers of the injury.

Sometimes the court will call a case concert of action when it is a stretch.  In Summers, one D can exonerate himself at the expense of the other.   This is different from concert, if no one comes forward, joint and severally liable.  If one comes forward, the court will decide which one is liable.  Here joint and several liability used as a smoking out function.  D knows more, the court wants them to come forward to say who did the act. (P shot while hunting by bullets from two D’s.)

Enterprise Liability: where harm is caused, but its unclear which D is responsible for the harm.  They can act independently but the fruit of the negligence combined to create a single result, a single harm.

Indivisible Harm: D’s don’t have the chance to come forward to limit liability. (Kingston v. Chicago and Northwest RR A fire was started in the NE but quickly spread and joined with a fire from the NW to cause damage to P’s farm.)

Divisible Harm: D comes forward to show how to make the division.

The hard cases are the ones where the result is divisible but its hard to know what each D caused.  Don’t have good primary proof, only good circumstantial proof.  For each cause, P apportions the harm.  In Smith, D is arguing that they don’t have anything to do with harm to the feet.  D has to prove what part is divisible, D failed to prove this factually.  If it was true, P would have lost against Penny. (P wearing a coat made of flammable material, and is set afire by the negligence of gas station employees/ Pollution Each D has contributed to making the water undrinkable, this is called a single harm, but it is capable of being apportioned.)
B. Market share liability 

1. Sindell

Market Share Liability

The court comes up with its own theory.  Industry wide liability.  5 D’s made 90% of DES sold.  For this to apply, D’s must hold a significant share of the market.

VI. Causation

A.
Cause in fact

Whether D’s negligence did in fact cause the injury or whether it was in total caused by someone else.  

1) P Must show that D was negligent, 

2) P must also show that D’s negligence was the cause of the injury.  

3) P shows this by demonstrating that if D hadn’t been negligent, the injury would not have occurred.

 In Grimstad, P unable to prove that D’s negligence was the but for cause of the injury.  If the court had pulled in the statute, this would have been negligence per se because boat owners are required to have buoys so the lack of one shows that D was below the standard of care.  This would have shifted the burden back to D.  Essentially, whoever has the burden of proof loses.  However, D can be negligent and still not be the cause in fact (negligence in the air). (NY Central RR v. Grimstad Captain of a barge drowns when a tugboat hits his barge and he is thrown in the water.)

Cause in fact doesn’t work for the dual fire cases where two negligent fires join.  Each fire would have burned down the house, but separately not a but for cause. 

Richardson raises the question of admission of expert evidence to determine the cause in fact.  Hard to prove drug was the but for cause, there are deformities without the drug.

Daubert v. Dow set the current standard for admission of expert testimony in limited circumstances.

1) Qualifications/publications of the expert

2) Scientific methodology, reliability and relevance

3) The judge has the screening function

B. Proximate cause, Cause in law

P always has to prove proximate cause and cause in fact.  Question P has to answer is should D, doing what he did, be responsible for the injury given the connection/disconnection between D’s negligence and the injury that happened.

Proximate causation can be seen as a rebuttal of P’s PF case.  Judges are the ones who cut off liability on proximate causation grounds; the issue does not go to the jury.

The question is should D be legally responsible for the consequences of his act?  In most cases that raise this issue it is a question for the jury.  They are asked to determine:

1) Did D negligently cause P’s harm?

2) Was the evolution of the chain of events tight enough/proximate enough to D’s act?

3) Or was it loose enough to break the chain?

· Too many interventions

· Unforeseeable criminal intervention

Proximate cause: Ordinary, natural course of events, necessary, probable and usual.

Proximate Cause Per Se: Restatement 449 (p. 504): If the very hazard that makes the harm negligent is criminal, it does not break the chain. (Hines v. Garrett D forced P off the train past her stop, she was raped in the hobo jungle)

Intervening cause: flow of wind, forces D has no control over, accidental, varying causes.  Is the intervention so unconnected/independent that it cuts off liability and becomes a superceding cause?

Remote cause: Not ordinary, natural, not necessary, expected, usual.

Intentional vs. Negligent Firing: If the fire was intentionally set, D should be liable for all houses damages, because he failed to exercise care and the fire spread.  But if the firing was negligent, we should limit D’s liability.  Undercuts Vaughn v. Menlove which held D was negligent and liable for all the damage that resulted. Ryan v. New York Central RR Co. D’s woodshed catches on fire from sparks from D’s train, ignites P’s house)

Foreseeability (Ex Ante): If the risk are within the very risk that should have been prevented there is a strong case for proximate cause.

MacGruder on Proximate Cause in Marshall (the law today)

To determine proximate cause you have to do a risk analysis after the negligence is already determined.  Go back to the anchor and look to see if the risk that happened were those that should have been protected against.  In a borderline case, the issue should be left to the jury. (Marshall v. Nugent Icy day, big hill, truck stalled in middle of hill, in middle of road.)

Accepts the Palsgraf rule that P must be foreseeable, within a class or target area as to whom there was an unreasonable risk imposed.  This is still the rule in NY.

It is a question of law in favor of D if all the risk have been completed and are no longer performing, if the injury can’t be traced back to D.

Foreseeability in Kinsman (Friendly) (the law today)

D is negligent because if the boat was not tied up tightly it would go careening down the water and hurt other boats and people.  But they were not thinking about the water backing up and the city not opening the drawbridge.  These were foreseeable consequences within Wagon Mound Authority.

The rule in Wagon Mound should be restated more narrowly.  The court said not liable for unforeseeable consequences.  Have to cabin it by looking at the forces that were operating.   The operation of those forces that were improperly risked that caused the consequences.  In Wagon Mound, the forces that caused the injury were not the forces that were risked (slippery dock v. fire).  Here the forces that were unleashed were the forces that were risked.  Foreseeability doesn’t matter.  The consequences were foreseeable.  The risk that should have been protected against.

In Gorris v. Scott, the sheep were improperly pinned and went overboard.  P sued under a statute to prevent the spread of disease.  P sued under the statute only, didn’t win because the injury sprang from a totally different risk.

The fact that the chain goes off in bizarre ways doesn’t release D from the negligence that started it.

Have to have foreseeable forces.  The court is generous in determining the risk foreseen beforehand.  Looking at an array of risk. Once the forces that should have been contained are unleashed, then look at directness standard to figure out what consequences P is responsible for.  D has to foresee what forces are being unleashed that ought not have been. Generous risk vision, allowable looseness about the risk area.

Use the foreseeability test twice:

1) Ex ante: if hazards are foreseeable, to determine negligence

2) Refer back to ex ante analysis to determine cause for which D is liable – Directness Test.

Directness of Causation (Ex post)
Courts have found that certain types of intervening causes, especially human intervention, can relieve D of liability.  Looked at after the act.  Now we know D was negligent.  The question is what will D be responsible for?  Looking at the chain of causation.  Maybe will cut off links.  Really about links of the chain which are used as a test of directness.  Cases where someone intervenes in the hope of saving someone in danger are exceptions to this rule: deliberate rescue attempts are not seen as breaking the chain of causation. (Eckert).

Duty: D should only be liable for those risk which they are under a duty to prevent. (Gorris, Berry)

Duty in Wagner

Cardozo held that it was natural for P to go the rescue.  The wrong that created the need for the rescuer is responsible for whatever happens to the rescuer.  P was an intervenor and may have broken the chain of causation.  But it is a question of duty.  Was there a duty to protect a rescuer from this wrong?  Cardozo says yes.  It is a question of law that the RR was responsible for the harm to the rescuer.  RR is accountable as if he had foreseen, it doesn’t matter because he has a duty.  This is an exception from the general rule.  D must expect rescuers to come and will have a duty to them. (Wagner v. International Ry. P’s cousin thrown by D’s negl, P injured while going to find him, sues D)

The test is if the rescue is not wanton, its reasonable, part of the chain.  This is really a matter of public policy.

Duty in Palsgraf

There must be a duty to P.  There must be a foreseeable P.  P here is the unforeseeable P.  Extending the chain so long that will bring a chill to human relationships.  Here, the interest risked are of a different order than the interest invaded. (Palsgraf v. Long Island RR man carrying fireworks boards train, they explode, injure P)

If passenger’s eye blown out, could RR make the same argument?  The passenger can recover according to Cardozo.  The orbit of the danger is the order of the duty.  The eye of reasonable vigilence to the passenger.  P is too far away.  Duties must be direct, not derivative.

Cardozo separating duty to P from proximate cause.  If there is no duty, there is no cause of cause.  Don’t need to get into the proximate cause question.

VII. Affirmative Duties

A. Introduction 

Did D have a duty to act?  If D has chosen not to be a good samaritan, he doesn’t have a legal responsibility, but he has a moral one.  The law cannot proscribe personal liberty, but it can build in incentives.

Posner: People will want the social contract.  What is the burden vs. loss?

Bender: The connectedness of people leads to responsibility.

Ames: D has a duty to rescue A if he created the risk, even if non-negligently.

B. Duty to rescue

Restatement (Second) Torts.  Section 324

Duty of one who takes charge of another who is helpless

One who, being under no duty to do so, takes charge of another who is helpless adequately to aid or protect himself is subject to liability to the other for any bodily harm caused to him by

a) the failure of the actor to exercise reasonable care to secure the safety of the other while within the actor’s charge, or

b) the actor’s discontinuing his aid or protection, if by so doing he leaves the other in a worse position than when the actor took charge of him.

A person in charge of an instrumentality has a duty to go to the aid of a person endangered by the instrumentality.  Having created the risk, he has a duty to protect against it.

The Bush case wouldn’t turn out the same way today. (Bush v. Amory Mfr. Co. P, 8 years old, trespassed into D’s mill then was injured by machinery that was left unattended.)

Today if blocking a rescue effort, D must take reasonable care to unblock. (Scruggs A train won’t move out of the way to let a fire truck through to put out a fire at P’s house.)

VIII.Strict Liability-Ultrahazardous Activities

Could the court in Spano infer that D was negligent?  Can’t be inferred if the harm that was caused is the type of damage that can happen with or without negligence.  This court wants liability with or without negligence.  This is not a negligence case. (Spano v. Perini D was using a blasting cap, P was a garage owner in the area.)

D can do activity but have to bear the responsibility for damage.  The policy arguments are that this is fair and efficient.  D can see the price tag and decide if he wants to continue with activity.  D has the right to do the activity but has to pay for damages.

Ultrahazardous activities: Activities likely to have spillover effects that cannot be guarded against or prevented with a great degree of care.

This is not a fault based rule.  Damages can happen even if there is the utmost care, that is the nature of blasting. There are three big pockets of strict liability.

1) abnormally dangerous activities

2) products liability

3) statutory categories (state adopted, food, cars, fed statutes)

Strict Liability: Exception to the major background rule of negligence.  There is something dangerous going on, inherent in the activity.  Because of the substantial good, not unreasonable risk, but hold D responsible.  There are expected external risk.  This is a limited rule confined to its own bottom.  Limited to expected results.

Mink eating young breaks the chain of causation of damage from blasting.  Not distinguished from negligent blasting.  P has a shot at a longer chain in a pure negligence case. (Madsen v. East Jordan Irrigation co. The minks ate their young when they were terrified by concussion damage.)

IX. Products Liability

A-B
Exposition

According to Winterbottom, P could sue the manufacturer only they had contracted the manufacturer directly, i.e., only if P and the manufacturer were bound by the privity of the contract.  Otherwise, no suit could be brought.  Winterbottom was thus used as a way for courts to limit liability to the manufacturers.  Poison cases were the only exception to this rule due to its dangerous nature. (Winterbottom v. Wright P sues when coach, supplied to PG, breaks)

All this changed with Cardozo’s decision in MacPherson v. Buick Motor Co. (P sues when wooden wheel is defective, D says no privity).  He eliminated the privity requirement, and found that manufacturer’s have a duty to consumers if:

1) the manufacturer knows that their negligence will cause damage to life or limb (note decided under negligence regime, wouldn’t matter under strict liability)

2) the manufacturer can reasonably foresee that the product will be used by parties other than the immediate purchaser

3) And that these parties will use the product without inspecting it.

Should strict products liability or negligence govern products liability?

Negligence, created enormous proof barriers for P: it was difficult in many cases to prove that D was negligent at all, must less to prove that the negligence caused P’s harm.

In 1962, California, in Greeman v. Yuba Power Products, adopted the argument of Traynor in his concurrence to Escola and became the first state to allow products liability claims on a strict liability basis.  Since 1962, almost every jurisdiction has followed Cali’s lead. (Greenman v. Yuba Power Products P injured by D’s defective wood lathe, flying chips)

Traynor’s reasoning in Escola was that public policy demands that responsibility lay with the party most able to pay for the harm.  Whoever uses the product will bear the cost in raised insurance.  You get paid by the spreading of the cost/risk.  Puts the incentive on the manufacturer so that they will take steps to reduce defects.  Consumer’s are not in a position to inspect products, they are relying on the manufacturers.  Warranties aren’t good enough.  Why have several causes of action?  P should have recourse directly back to the manufacturer.  Traynor doesn’t want P to lose even if D can prove there is no negligence.  Negligence regime places an undue burden on P to prove it.  D made the product and should stand behind it and be responsible for it. (Escola v. Coca Cola Bottling Co. of Fresno D’s bottle exploded in P’s hand)

Henningsen also achieved the same result by striking down the privity requirement. (Henningsen v. Chrysler P injured by D’s prod, D claims no privity, no recovery)

However, the Goldberg case established that service providers cannot be held strictly liable because P is not buying a product, getting a service. (Goldberg Airplane crash, P sues parts mfrs and AA)

C. The Restatement 3d (1997)

Section 2

There is a similarity between the reporters’ conception of strict products liability and Escola.  They assume P’s conduct is appropriate.

· Strict liability causes mfr to make safer products

· Puts the burden on mfr that can best see what new products can be made and measure cost efficiency

Revision of Restatement 2d to 3d

1) Liability for the harm caused by defective products

· unreasonably dangerous removed

· placed an undue burden on P to prove

2) Describes when a product is defective

· Mfr defect – Escola, one bottle abnormal, deviated from design standard

· Design defect – Greenman – Screw was too short on all tools mfr.

· Inadequate instructions

Manufacturing defect strict liability issues

Effects consumer expectation, the price goes up.  Under res ipsa, the jury is more likely to be hostile to D. Strict liability reduces the transaction cost for litigating the issue.  Importantly, this really hasn’t been successful.  In most S.L. cases, the negligence action is still brought.

When is a design defective?

How would you determine?  Foreseeable risk of harm because screws are too short, could have been prevented by using larger screws.  Omission of long screws led to a foreseeably defective product.  Renders the product not reasonably safe.

Inadequate instructions

Negligence standard used.  Still looking at the product, not D’s behavior.  The product is unreasonably dangerous without warning.  P doesn’t have to prove that D is negligent.

D. Product Defects

Risk/Utility analysis: balances the risk with the benefits.  It’s the consumer’s choice to get more risk, lower price

Whooping cough vaccine: a small percentage of those that get it, will get brain damage.  Willing to have a few sacrificial lambs to benefit all.  The manufacturer did all that he could.  States can decide if vaccines are mandatory.  Maybe the states should pay.  When you have S.L without negligence its really a question of who should pay, maybe the mfr should pay.

Legislative solution: established a fund, the government is the insurer, this is a good subsidy.  The mfr were unable to bear the cost, they were going out of business.

Reasonable alternative design: D can say it cost more, the price will be higher.  This is a mixed fact and law case.

Open and Obvious Defects

Manufacturers arguing that when the defect is open and obvious the consumer should be able to choose.

1) Puts an undue burden on D whose products are risky.  

2) When P sees what the risks are that should be the end of the manufacturer’s responsibility.  Raises the question of who sets the safety standard.  

3) D loses and open and obvious comes into the analytic argument but is not decisive of liability. (Micallef v. Miehle Co. P injured chasing hickie, sues D for unsafe design)

Under Restatement 3d, the omission of the safer alternative design renders the product not reasonably safe.  To do a complete risk/utility analysis, would need to know what the guard cost, if other machinery came with the guard.  This is a dangerous machine that shouldn’t be on the market.  Open and obvious is not a defense.

Product Alterations

When they are unforeseeable/abnormal, they are beyond the duty of the manufacturer.  When they can be foreseen, the manufacturer has a duty of care to protect against this use.  D may be able to argue unreasonable assumption of the risk.

Under Restatement 3d, product alterations are used as a factor for calculating comparative fault.

Crashworthiness

The manufacturer is only liable for what it should have foreseen and should have protected against.  A car must be reasonably crashworthy, the manufacturer’s duty doesn’t end with roadworthiness, it is also foreseeable that it could be used in a crash. (Volkswagon v. Young P estate sues for defective design of seat brackets)

Who has the burden of proof in defective product design cases?

The Barker Test

(Barker v. Lull P injured while operating a high lift loader, inexperience, against mfr instructions, P sues based on lack of safety precautions.)  A two-pronged test to be used once the question of cause in fact has been answered affirmatively:

1) Is the product below consumer expectations (breach of implied warranty of fitness)?

· Really a strict liability standard, this couldn’t have happened without negligence, dangerously below consumer expectations.

· provides a reference point to make a judgment (Greenman, reasonable consumers wouldn’t expect wood to fall out, similar to implied warranty of merchantibility – mfr saying I stand by my product)

· the only problem is that consumers may hold the product in low esteem

· Under this prong, P has to prove that the product is below expectations to win

· The burden is shifted to D to show that the product is not defective

If D had offered P an express warranty – saying but I used all possible care, I couldn’t have done any better – D then has no defense, he has to stand behind the product.

2) Is the product more dangerous than is justified by the design based on a risk/utility analysis

· Brings in a negligence standard.

· Under this prong, P has to prove proximate cause, including cause in fact.

· D has to prove the product is not defective and that the benefits of the product outweigh the cost.  If D proves the benefits exceed the risk he is successful.  If the risk exceed the benefits, P is successful.  D should have cured this defect – now you have negligence.

· The court doesn’t want to use a strict liability standard exclusively.

The Piper Test

In Piper, the court held that P has the burden of showing a reasonable alternative design is better based on a risk/utility analysis.  In Piper, the court wants to make sure that the problem is really a design defect and not just P’s negligence.  The court is saying P can’t just come into court saying this plane is susceptible to icing, has the show the whole plane and the risk/utility of the choices vs. alternatives. (Wilson v. Piper Aircraft P killed in crash because of icing problem, D’s planes not equipped with deicer).

Which is the better test?

Barker is better for P because the burden is on D to show the alternative design.  The option is always open for P to say that the product is so dangerous that a reasonable manufacturer wouldn’t have put it on the market.  If he can’t prove this then he has the option to show that there are other safer alternatives that were available.  This shifts the burden to d to explain why alternatives were not pursued.

The Restatement 3d chooses the Piper negligence test.  P must prove the availability of a reasonable alternative design and that D not using this design caused the product to be rendered not reasonably safe.  If the alternative design would materially change the consumer benefits and perceptions of the product then it is not acceptable (de nic cigs).

The Restatement doesn’t ignore Barker, just says it is not the exclusive method for determining liability.  “Some courts recognize consumer expectations as an adequate test for defect.”

State of the Art – Restatement

The real question is what point in time do you look at the state of the art for the risk/utility analysis?  The Restatement 3d says at the time the product goes on the market. Otherwise it is unfair to D.  Its not a case where D could change his behavior.  If looking at what D should have done or been able to do, you are back to a negligence standard.

State of the art is not a defense, but it comes in with the risk/utility analysis.  If you look at the state of the art at the time when the product is being made, there really is no gap between the decision and the negligence.  If P is able to use the state of the art at the time of the accident, this is really strict liability, because there is nothing D could have done.  Courts differ on the question of when you look at it.

Duty to Warn

The negligence element: P must prove that D either knew or should have known of the danger resulting from the use of their product.

Borel v. Fiberboard Paper Products Corp, watershed asbestos case.  There was finally enough evidence to prove what the manufacturers should and did know.  Able to prove negligence.

Brown v. Abbott Labs, a DES case where P said the product was misdesigned with no inherent benefits to outweigh the substantial risk.  D said there was no negligence, the problems were not known or knowable.  The court held that there was no duty to warn of what you do not know and do not have reason to know (based on Restatement 2d, comment k).  The Restatement 3d Section 6 agrees.  State of law today.

The N.J. Beshada case is an exception, the court found a duty to warn when there was no way that D could or should have known of the risk of asbestos.  This decision has not been expanded.  No intention to impose absolute liability and make the manufacturer or distributor the insurer of the safety of their products.

The causation element: Causation has two hurdles:

1) P must prove that the warning would have caused her to not use the product using an objective standard.   Essentially saying that stroke risk is a material fact. In many states, the courts presume that this causation element is proved by P, and put the burden on D to rebut. (McDonald v. Ortho P took birth control pills for three years, had a stroke.)

2) P must still prove that the product caused her injury [not always so easy in drug cases, for instance].

Learned intermediary doctrine: Mfr has duty to tell doctors of risk of drugs, assuming the benefit outweighs the risk, it could still be too dangerous without a warning.  The mfr warning to the doctor is the end of their duty to warn.  The Restatement 3d does not take a position.  Mentions that some courts have exception for birth control, but leaves this determination to the courts.

Why should there be an exception in prescription drug case:

· P played greater role in choosing medicine

· P doesn’t see doctor as often

· P deserves informed consent, making own choice, have a right to know.

· Mfr communicating directly with patient through advertisement/brochure

Must have sufficient warning of exactly the danger, in plain language

Not good enough that followed FDA instructions.  The FDA is only a floor, not a ceiling.

Pre-emption: provides a strong implication that D can still argue that federal law is inconsistent with state law liability that requires more.  If it is not express, federal law applies, there is no room for the state to put more language in.  (Cipallone, state attempt to add labeling requirements to smokes.)

E. Plaintiff’s conduct

What happens in products liability cases after the introduction of comparative negligence regimes?

In Daly, California introduced comparative negligence into all products liability claims, even for manufacturing defects.  Takes away complete recovery bar in assumption of the risk cases.  (Daly v. General Motors Corp Drunk, unbuckled man killed when he is thrown from his unlocked car in a collision.)

Under Comparative Negligence – Forms the Middle Ground:

1) P gets everything for enhanced damages.

2) P gets nothing because either contributorily negligent or negligently assumed the risk.

3) P gets something reduced by what is assigned to P’s contribution to the cause.

Restatement 3d goes with comparative negligence to the extent that P causally at fault and responsible, the jury will figure out what to assign to P’s fault.
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